Memorandum: SS — Geography Exam - November 2019

Question: | Answer: Marks:
11 Falsev 1
1.2 Truev 1
[2]
2.1 a) thermometery

b) wind sock / wind vanev’

c) rain gaugev’

2.2 Rainv / hail / snow (Any logical, correct answer)

3.1 Julyv/

3.2 Between 3mm and 5 mmv’

3.3 Cullinan should have hot, wet summers and dry, cold

(any logical, correct explanation)

winters./ It rains more in the summer, so it is hot, wet
summers and therefore the winters will be cold and dryv’
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[3]
4.1 b) fynbosv’ -
4.2 c) Partly cloudy, minimum 10 °C, maximum 18°C v 1
4.3 c) is worse for...v/ !
[3]
5. 1. by -
2.dv -
3.av -
4. ¢/ -
5.e/ .
[5]
6.1 silicosisv/ dust v/ 2
6.2 remainsv’ -
6.3 renewablev’ :
[4]
7.1 Goldv’ -
7.2 Platinumv/ -
7.3 Diamondsv’ i

[3]




8.1 Northen Cape and North Westv’ 1
8.2 Gauteng and Limpopov’ 1
[2]
9.1 Open-pit / surface miningv Shaft / deep level miningv 2
9.2 Water pollution, v/ air pollution, vegetation and wildlife 1
destruction, waste and waste disposal, soil (any 1 logical,
correct answer)
9.3 Rock falls¥” / water (any logical, correct answer) 1
[4]
GRAND TOTAL 30




